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Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
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1. Whatis 0064 x 6:25 eoial 7 5.  What is the square root of
0-081x 4-84 08B 407041
OB VOB o rrmiy
10 2:25
(a) 5’5
(a) 1
100
(b) —" b) 2
99 (b)
@ - B () 3
: d
@ 99 o

2.  (x +4) is a factor of which one of the following|6-  What is the number-of digits in 9409

expressions ? (Given that log;;2 = 0-301)
(a) x*Afx+44 & 14 |

(b) =x%*+Tx—44 (b) 13

(© x%=Tx—44 © 12

(d) x4 7x + 44 >

3. If a and B are the roots of 'the quadratic
equation 2x° + 6x + k = 0, where k < 0, then

B

what is the maximum value of - Wy

i If one root of
(a2—5a+3)x2+(3a—1)x+2=0

% is twice the other, then what is the value
(a) 2 of ‘a’?
b -2 2
(a) 3
(¢) 9
2
d -9 . (b) —y
4.  Consider the following statements : - (c) %
h If a=bc with HCF (by¢) = 1, then A
HCF (c, bd) = HCF (c,d). @ = g

2. If a=bc with HCEF (b, ¢) = 1, then

LCM (a, d) = LCM (e, bd). :
8. What is the remajx_lder when the number
Which of the above statements is/are correct ?

(4444)*444 i5 divided by 9 ?
(a). . 1only Gy 4
(b) 2only ' (b) 6
(c) Bothland2 (r;) 7
(d) Neither 1 nor 2 (d 8
BLS-S-FDE (2-A)
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1. [2064x695 ey e # 2

0-081x 4-84
10
(a) §§
100
b —
(b) 95
(e 9
d 99

2. (x + 4), FiefaReq s § @ femw

4. FrefaRed st w = #ife
1. 3IfE a=be 9 HCF (b, c) =

HCF (c, bd) = HCF (c, d).

9.  3AE a=be F HCF (b, ¢)

LCM (a, d) = LCM (¢, bd).

S0 et B & hH-EA T B 2
(a) had 1

(b) e 2

(¢) 13K 23M!

@ T@LAd2

BLS-S-FDE

3512 4 0
5. 037 +070+1, 419 = wrim fered womm

225
22

@ 1

® 2

(0 3

@ 4

ML o N

8. S WA (4444)* 1 9§ TS fopam st
R, T S R

(@) 4

(b)

(c)

(d)

@ =N o

(3-A)

h!
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9. If x= 2k h —yi b

12. If A: B = 3 : 4, then what is the value of the

: then what is

Ja+b+Ja—Db ) [3A2+4BJ .
expression | ———— ?
bx? —2ax + b equal to (b# 0)? 3A - 4B
43
@ 0 , (a) 55
) : 43
by 1 b) - 55
(@) ab @ =

55

(d) 2ab

10. What is the value ¢

ng is a null set ?

(a) O

b 1

() 2 ‘what is the value of
@ 3

1 .t

1. If x=t'"1 and y=1tt"1,¢
what is the _re‘lation between x

(a) y*=x¥¥ and x +y = 26, then what
is the value of xy 2
Iy _ o1

B = o (a) b5
(C) xy = yx . y (b) 15

‘ (¢) 256
(d) Xy = y]'/x (d) 30

BLS-S-FDE (4-A)
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Ja+ b fa=h"

bx2 - 2ax + b TeFES ST R (b= 0) ?

(a) 0
by 1
) b

(d)

(b) xUY = yll'x
(e =¥=y*

@ x¥=yix

 BLS-S-FDE

12. afCA:B=3:4,

w13 7

(a) %
® - ‘;—g

© 3

2
&t ot |24 *+4B | o am
3A — 4B2

Toremre T8

" (5-A)

~ 6x% + 6x W

¥ Bﬁ'(x+y=26,?ﬁ xy bl
p.4
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16. What is the solution of the equation 20. The pair of linear equations kx + 3y + 1 =0

2 =0 int t h ot i
x logy, (?) +logyy8 = logy (2 + 39 +x? and 2x +y + 3 =0 intersect each other, if

(a) k=6
(@) 10 ®) k=#6
(b) 3 () k=0
e 1 (d) k=0
d 0 :
121, The number of prime numbers ! ' 11 are less
than 100 is §
17. If oo and B are t:.he roots..of . the equation (a) 24
x2 + px + q =0, then what is o + 2 equal to ? (b) 25
(@) p?42q ek 26
9 d 27
(b) q“=2p |
© p>+2q 22. The costrof a diamond varies directly as the
square of its weight. A diamond broke into
d q*-g : four pieces with their weights in the ratio of

1:25: 3 :4. If the loss in total value of the
diamond was ¥ 70,000, what was the price of

the original diamond ?
(a) ¥ 1,00,000
(b) ¥ 1,40,000

18. If a3=335+Db% and a=5+b, then what is
the value of a + b (given that a> 0 and b > 0) ?

(a 7 :
(¢) ¥ 1,560,000
(b) 9 (d) ¥1,75,000
() 16
‘ . 5
| ' — m/s. If
@ 49 23. 'In a 100 m race, A runs at a speed of 3 ]

A gives a start of 4 m to B and still beats him
by 12 seconds, what is the speed of B ?

19. If 9% 3Y = 2187 and 2% 2%Y = 4% = 0, then

what can be the value of (x +y) ? (a) g m/s
@ | ® 1w
() 3 :

© 5 @ 3 mis
o @ 5 s

BLS-S-FDE (6-A)
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16.

17.

18.

19.

BLS-S-FDE

) e ®

hiv|

x log,, (%9] +log;y 3 = logy (2 + 3%) +x
1 B R 2 |
@ 10
() 3
) 1
(d)

IS o 3R p, THHW 2+ px+q =07 I &,
o + p2 s EUsT 2 2

(@ pZ-2q

® ¢*-2p
() p?+2q

@ q?-q

ae a® =335 +b% 3 a=5+b,d a+bdh
AR e (G ™8 S a>03b>0)?

(a) 7
(b) 9
(¢) 16

d) 49

fe 9¥3Y=2187 3R 2% ¥ _4M_o, @
(x + y) ST T 5T & Hehall & ?

@ 1
(b) 3
(0 5
a 7

20.

21.

22.

230

(i =A)

et Rgsh THHUT kx + 3y + 1=0 3R
2x+y+3=0@-@@mﬁ%,
afg

(a) k=6
b)) k=#6
() k=0
d k=0

100 § DIt TH=T AT (prime numbers) i
T 7

(a) 24
(b) 25
© 26
@ 27

TR T oI 3T 99 i o IITET TeIH
itarfcid &1 2 | T §0 =R HE H g T et
S o o I AFIA 1:2:8:47 | A EN
% $ Hed § T 70,000 T JHEH gAT @, A

E] 1 SRS e @ o1 2
(@) < 1,00,000
(b) ¥ 1,40,000
© ¥ 1,50,000
@ < 1,75,000

100 m S TF cIe 1, A,g m/s st T | Srsar

219 AS geT § B, 4 m M (W5 N
IR) ¥ QeI Y& HaT 7 R R oft A @

129U | &0 ol 8, df B hY 7ifa o R 2
(a) gmfs
RORNCENE
(©) %mjs
@ 2w

Join Telegram : https://t.me/defenceekaksha



24, If 15 men take 21 days of 8 hours each to do a
piece of work, then what is the number of days
of 6 hours each that 21 women would take, if
3 women would do as much work as 2 men ?
(a) 18
(b) 20
(ec) 25
(d) 30

25. What number must be subtracted from both
the numerator and the denominator of the
fraction L so that it becomes 2 ?

35 3
(a) 6
(b) 8
0 9
d 11

26. A sum of T 8,400 was taken as a loan. This is
to be paid in two equal instalments. If the rate
of interest is 10% per annum, compounded
annually, then the value of each instalment
is
(a) T 4,200
(b) T 4,480
(c) T4,840
(d) None of the above

BLS-S-FDE (8-

LET’S LEARN TOGETHER

27.

28.

29.

30.

A)

Leela got married 6 years ago. Today her age

is 1% times her age at the time of her

; .
marriage. Her son’s age is ﬁ-tlmes her age.

What is the present age of her son ?

(a) 1year

(b) 2 years
(¢) 3years
(d) 4 years

A and B working together ean finish a piece of
work in 12 days while B alone can finish it in

30 days. In how many days can A alone finish
the work ?

(a) 18days
(b) £ 20 days
(c) 24 days
(d) /25 days

The values of x which satisfy the equation
51+% 4 51=%X =26 are

(a -1,1
(b) 0,1
(cd 1,2
(d) =1,0

If 5 men can do a piece of work in 10 days and
12 women can do the same work in 15 days,
the number of days required to complete the
work by 5 men and 6 women is

(a) 7% days

(b) 8days
¢ 9 % days

(d) 12 days

Join Telegram : https://t.me/defenceekaksha
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24. AR 8 ¥ ST MM HTd §Y 15 3T Th FM

25.

26.

BLS-S-FDE

H HA A 21 foT o &, O I wW W 6 U
gfafer s g 21 o fohem fF & @@ =
urdrft, Ife 3 oftd, 2 AhEl % wW F T
T HET E 2

(a) 18
(b) 20
(e) 25

(d) 30
i j_; ¥ 3w oft | gFt § ¥ HA-H HE
ﬂaém,m%aagé’rm?

(a) 6

(b) 8

‘(c) 9

d 11

T 8,400 ! Tk URI-IYR W ol TR | 2H A
s fereat o gebrn StET B | AR kel s
H T 10% AT T4 3 N AIfYF BT LT S
2, 1 I fohtq I A R R 2

(a) ¥ 4,200
(b) T 4,480

() T 4,840

(@ mé?ﬁﬁﬁﬁéqﬁ

27, ol @ a6 @ od gem o | e S

28'

29,

30.

(9-A)

oy, 3% A ¥ w6 oy 6 1%g=ﬁ

%laa%gaﬁang,mﬁangﬁfag:ﬁél
3IGh GF hl IAHH AT T B ?

(a 19§

(b) 299

(¢) 3a§

@ 45§

AT B U I HH T Th w1 i 12 e |
TS L Hehd &, Jsich B 3 39 B

30 f& 5 T Hehdl & | 3Thal HF HJ 5L A A
= i fohae feT & auTe T wehat B 2

(@ 18T
®) 20 fem
(c) (24 T
(d) | 25/ &=

FHiw 517X 4+ 5% = 96 W Hgw F A

x%'ﬂﬂﬁﬂ'—[—ﬁﬁ?

(a)
(b)

¥
0,1

) 1,2

d. -1,0

Ffe 5 ereHt vk w10 T F X HHd &
3T 12 Sftd et e 1 15 o § e Tt
A 5 TTGHT 3T 6 AT It F i fopaw T &
T HT 2

1
(a) 751"3?
(b) 8fe
© 9%1’&:
@ 12f=
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32,

33.

34.

BLS-S-FDE
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A passenger train departs from Delhi at 6 p.m.
for Mumbai. At 9 p.m., an express train,
whose average speed exceeds that of the
passenger train by 15 km/hour leaves Mumbai
for Delhi. Two trains meet each other
mid-route. At what time do they meet, given
that the
1080 km ?

(a)
(b)
(c)
(d)

distance between the cities is

4 p.m.
2 am.
12 midnight

6 a.m.

In a class of 49 students, the ratio of girls to
boys is 4 : 3. If 4 girls leave the class, the ratio
of girls to boys would be

fa) 11:}§
by 8:7
() 6:5
d 9:8

If a+b=56 and ab = 6, then what is the
value of a2+ b? ? )

(a) 35
(b) 40
() 90
(d) 125

Rajendra bought a mobile with 25% discount
on the selling price. If the mobile cost him
¥ 4,875, what is the original selling price of
the mobile ?

(a)
(b)
(c)
(d)

T 6,300
T 6,400
T 6,500
% 6,600

Join Telegram

35.

36.

37.

38.

(10=A)

A 225 m long train is running at a speed of
30 km/hour. How much time does it take to
cross a man running at 3 km/hour in the same
direction ?

(a) 40 seconds
(b) 30 seconds
(¢) 25 seconds
(d) 15 seconds

Which one among the following is the largest ?

(a) %
®) %
(c) -z
(d) % |

The difference between the simple and the

compound interest on a certain sum of money
at 4% per annum in 2 years is ¥ 10. What is

the sum ?

(a) 5,000
(b) = 6,000
(e) T 6,250
(d) * ¥ 7,500

If a% of a + b% of b = 2% of ab, then what
percent of aisb ?

(a) 50%

(b)  T5%

() 100%

(d) Cannot be determined

. https://t.me/defenceekaksha



31.

32.

33.

34.
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Th aqiu W isl 0 P N g @ 3@3‘%%&[
TEYH R | T e e, SR
ffed i Tl M W 15 ka3,
9p.m.‘:f(gﬁ'§ﬁﬁ@%ﬁmaﬂ?ﬁ% | g
tomteat aegant § twgm & e € | gl
Yermieat form gwa fircih, af §H1 w=d & =
1 gt 1080 km 3 ?

(a)

(b) 2am.
() 127=Uly

(d)

4 p.m.

6 a.m.

-1 36.

49 Tl <hwss e #, iRl 9 A
I 4 : 3] | Ay 4 FTS[AAT H&T SIS &dl 8,
qt crefrdl 9 Tigehi oI U =T BET 2

(a) 11:7

(b)
() 6:5
(d)

8:7

9:8

ﬂﬁ{a+b=53ﬂ'(ab=6,?ﬁ a3 + b &1 A =
27

(a) 35

(b) 40

() 90

(d) 125

TS A foshg Ooa W 25% ®E b HIY TH|
38.

TeEa wie | afe 38 Hiese T 4,875 °
wler, d HeTEd S IR T gew w1 8 ?

(a)
(b)
(¢) T6,500
(d)

< 6,300
¥ 6,400

¥ 6,600

35.

37.

(11-A)

- (e

295 m T TH EME 30 km/ERT i TG B
= W} | ¥% T STEH W, S 3 km/Eer
Ty & Tt % wed 6 o § e wr g, 9

0 B Topaar aug @t 2
(a) 40 TS
(b) 30 THTE
(c) 250%Ug
@ 15 UHUS
BT & & S 5 2
7
(a) g
11
(b) T
3
4
10
(d) 13

Th SR TR 4% Ffc 9§ T T H 299 H, WA
g Tshelg SAS 1 AW T 10 8 | G
7

(a) ¥ 5,000
(b) ¥ 6,000
(e) ¥ 6,250
(d) T7,500

e a T a% + b 1 b% = ab HT 2% B, @ a H
fopae wfaera bR 2

(a) 50%

(b) 75%

(¢) 100%

() Fepren &l S Hehal
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39. %th part of the population in a village are
males. If 30% of the males are married, the
percentage of unmarried females in the total
population is

2

20—

(a) 5
2

b 27—
(b) 9
7

(e) 27—
. 9
2

d 29—
(d) g

44.

40. Sunil wants to spend ¥ 200 on two types of
sweets, costing ¥ 7 and ¥ 10 respectively.
What is the maximum number of sweets he
can get so that no money is left over ?

(a) 25
b)) 26
e) 27
(d 28

41. What is the LCM of %% + 8, x% + 5x + 6 and
x3 +4x2 + 4% ?

(@) x(x+2)72+3)(x2-2x +4) 45.
b  x(x—2)2(x—3)(x2+2x +4)

(© (x+2)2x+3)x%-2x+4)

@ x-22x-3)x2-2x%4)

42, The HCF of two expressions p and q is 1. What

is the reciprocal of their LCM ?
(@ p+q
(b) p-gq
- (@ pq
@ (pg!
BLS-S-FDE (12-A)

LET’S LEARN TOGETHER

43, ‘Whatis thevalueof 3,{4%225 ?

(a 1 g
(b) 1%
() 1 %
@ 2%

A thief is spotted by a policeman from a
distance of 100 m. When the policeman starts
the chase, the thief also starts running. If the
speed of the thief is 8 km/hour and that of the
policeman is 10 km/hour, then how far will the
thief have to run before he is overtaken ?

(a) (200 m
(b) 300m
() 400m
(d 500m

Aman and Alok attempted to solve a quadratic
equation. Aman made a mistake in writing
down the constant term and ended up in roots
(4, 3). Alok made a mistake in writing down
the coefficient of x to get roots (3, 2). The
correct roots of the equation are

(a) -4, -3
(b) 6,1
() 4,3
(d -6,-1
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39. TH Ta hH SHEE ‘_;. 9T GEY g | 9| 43,
30% ey faaifed ¥, @@ o SH@ewn H
Afgatea afgenaii o1 gfawa fraar 2 2

2

202

(a) 09
2

(b) 2'?'§
7

(c) 275
2

292

(d) 99

40. The T 200 A wHR Hi feEd w @ o |
wgal 8, TSFehl Ied HF: T 7 9 T 10 ® |
firaTedt 1 98 JAfUead 9 1 #4241 8, oE w4 9T
IS TIAT I T gE 2
(a) 25
(b) 26
(e) 27
d 28

41. x3+8, %2 + 5x + 6 3M x° + 4% + 4x
LCM &7 3 ?

(a) x(x+2)°2Ex%3HE2-2x+4)
45.
b)) x(x-22%2x-3)x%2+2x+4)
@ (x+22x+3)x2-2x+4)
@ (x-22x-3)x2-2x+4)
42. T S p 3R q 1 HCF, 18 | 3% LCM &l
YeshH FT R ?
(@ p+q
b)) p-q
() paq
(d (pg)~1
BLS-S-FDE (13=A)
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341_122_5 HAE TR 2

(@) 1%

(b) 1%

© 1%

@ z%

o o ¥ T SH 100 1 B g0 § iR

forar | St B 3 di@1 S 3 fea, at 9R
i wEH e | Ffe =) fd 8 km/sier B 3R
Rt < e 10 km/ERT B, @1 The TH § U

| 1 feRee X W i 2
(a), - 200 m
(b) 300m
(¢ 400m
(d 500m

I 3R AR 4 TH foua wHfier S oad
H B I {1 | 37 Faa vg forwd
T & 3T S (4, 3) T | atess | x
& T forEa @ Tedt 4 SR g (3, 2)
feprel | wftentor % W g §

@) =4, =3
b) 6,1
() 4,3
@ -6 -1
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46. Consider the following statements : 51.
1.  Of two consecutive integers, one is even.
2. Square of an odd integer is of the form
8n + 1.
Which of the above statements is/are correct ?
(a) 1only
(b) 2only
(¢) Bothland2
(d) Neither 1 nor 2
47. The system of equations 2x +4y=6 and
4x + 8y =8 is 52,
(a) Consistent with a unique solution
(b)  Consistent with infinitely — many
solutions
(¢) Inconsistent
(d) None of the above
48. (N®7'_1)is a multiple of p, if N is primé to p
andpisa
(a) Prime number
(b) Rational number
(¢) Real number
(d) Compesite number 53.
49. The ratio of two numbers is 1 : 5 and their
product is 320. What is the difference between
the squares of these two numbers ?
(a) 1024
(b) 1256
(c) 1536
(d) 1640
50.- 25 kg of alloy X is mixed with 125 kg of
alloy Y. If the amount of lead and tin in the
alloy X is in the ratio 1 : 2 and the amount of
lead and tin in the alloy Y is in the ratio 2 : 3,
then what is the ratio of lead to tin in the
mixture ?
(a) 1:2
(b) 2:8
() 3:5
d 7:11
BLS-S-FDE (14-A)

ET’S LEARN TOGET

The mean of 5 numbers is 15. If one more
number the mean of the
6 numbers becomes 17. What is the included
number ?

is included,

(a) 24
() 25
(c) 26
da 27

The mean marks obtained by 300 students in
a subject are 60. The mean of top 100 students
was found to be 80 and the mean of last
100 students was found to be 50. The mean
marks of the remaining 100 students are

(a) 70
(b) 65
(e) /60
(d) 60

Consider the following distribution :

Class Frequency
0-20 17
20 - 40 28
40 — 60 32
60 —80 f
80100 19

If the mean of the above distribution is 50,
what is the value of £ ?

(a) 24
(b) 34
(¢) 56
@ 96
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46.

47.

48.

49.

50.

BLS-S-FDE

e [ ] ®
LET’S LEARN TOGETHER

Frafafes wemt w famm Hifvw -

1. TISHANE P A S TH T2 |

2. THfamyies F ot H sn+ 1FFTH
fore o= § |

39 FE § W BV T BR 2

(a) hae 1

(b) <had 2

(¢ 1323

d 1,782

Wﬁw2x+4y=63ﬁ{4x+8y=8
(a) T Agelier g o6 e ET & ‘
(b) Fdd: A% Tl o d1Y TG 8

(c) TR

(d) 3UYE H B IS Al

p % TH O (N° - DR, At N, p & TSy
2R pR TH

(a) ITHSY GEAT

(b) YNET G

(¢) ITdieeh TE&

(d) WY TE

3 HEA1SA 1 AU 1: 52 AR IAehT TUHH
320 % | 39 & GEATS % I < SiE bl AT
R ?

(a) 1024

(b) 1256

(¢c) 1536

d) 1640

25 kg fweng X @1 125 kg faseng ¥ & @19
fufd fomam e | =fe frsreng x & i o T
(81) 1 AT T A 1: 27 IR fazeg YH
dien 3fi T ol AET AU 2: 37, @ W
forsror & ot 3R M T 1EE = AR 2
(a) 1:2

(b) 2:3
(¢) 3:5
@ 7:11

51.

52.

53.

(15-A)

5 TEATl w1 WiE 15 & | IR we 3R Hem
St WU, A 6 eI T ATET 17 8 W 7 |
N T HET TR ?

(a) 24
(b) 25
() 26
d 27

eeft_fawa #4300 femfiat gw wra few
3! 1 3NEd 60 & | Yas! & = 100 Taenfi
% 3] Sl SATEq 80 YT AT GUT INFEH T F
100 foenfiat & Si=i w1 f¥a 50 YRN T |
3y @ 100 faenfey = 3fi =1 eiwq A g 2

(@ 70
(b) - 65
(e) 60
(@ 50
Frafafed o7 w fomr Hifsw
il i
0-20 17
20 - 40 28
40 - 60 32
60 — 80 f
80 - 100 19

A I T H1 WL 50 B, A £ H AW HI
27

(a) 24
(b) 34
() 56
(d 96
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54.

55.

56.

57.

ET’S LEARN TOGET

In a pie diagram, there are four slices with
angles 150°, 90°, 60° and 60°. A new pie
diagram is formed by deleting one of the slices
having angle 60° in the given pie diagram. In
the new pie diagram

(a) The largest slice has angle 150°

(b) The smallest slice has angle 70°

(c)
(d)

The largest slice has angle 180°
The smallest slice has angle 90°

In an asymmetrical distribution, if the mean
and median of the distribution are 270 and
220 respectively, then the mode of the data is

(a) 120
(b) 220
(¢) 280
(d) 370

Let a, b, ¢, d, e, f, g be consecutive even
numbers and j, k, [, m, n be consecutive odd
numbers. What is the average of all the
numbers ?

3(@+n)
(a) T
(51 +7d)

4,

(a+b+m+n)

4
None of the above

(b)

(c)
(d)

An individual purchases three qualities of
pencils. Therelevant data is given below :

58.

59.

Consider the following frequency distribution :

x | Frequency | Cumulative frequency
1 8 8
2 10 18
3 £ 29
4 f 45

Quality

Price per
pencil (in T)

Money
spent (in F)

A

1-00

50

B

1-50

X

C

2-00

20

It is known that the average price per pencil is

T 1-25. What is the value of x ?

<10
T 30
T 40
< 60

(a)
(b)
(c)
(d)

BLS-S-FDE

60.

(16-A)

What are the values of f] and f, respectively ?

(a) 10and 17
(b) - _17 and 10
(¢) .11 and 16
(d) /16and 11

If D is the number of degrees and R is the
number of radians in an angle 0, then which
one of the following is correct ?

(a)
(b)
(e) | 7R = 180D
(d)

nD = 180R
7D = 90R

nR = 90D

What is the minimum value of

9tan?0+4cot20?

(a) 6
) 9
(e) 12
(d) 13
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54.

56.

56.

517.

BLS-S-FDE

° ®

LET’S LEARN TOGETHER

T JURE (pie diagram) % TR W & 0T
150°, 90°, 60° d 60° & | fA 7T JTARE % 60°
IV I T Hl 8 F T A JARE =T
TR | Y gARE | \

(a) G&Y §S AT I BT 150° 2

(b) TEH BT WT T BT 70° 7

(c) HaY FS WOT T BT 180° B

(d) . E=Y BT WO T HIT 90° B

T ITEATHA §eA H, Afg ST 1 AT 9 WITEAH]
I 270 9 220 8, T ATHSI I IgTh F12 ?
(a) 120
(b) 220
() 280
(d 870

qH T a, b, ¢, d, e, f, g AT G99 TN &
3R j, k, I, m, n HAT 08 M@ & | i
TEAT3NT T ATEA 41 8 2
3(a+n)

2
(51 +7d)

4
(a+b+m+n)

4
(@ 3S9YE HH HIE T8

Tk S A SR ! e mhe & I‘vﬁle_&‘
Atwg A= fog T E.

Th X

(a)

(b)

(c)

&S
Hsg(? ) | o (FH

A 1-00 50
B 1-50 X
C 2:00 20
I 71 7 o6y Gt %1 afted qeg T 125
Bl xHI AR TG ?

(@ %10

(b) %30

© T40

(d <60

58.

59.

60.

(17-4A)

ﬁm%ﬁgamdamﬁanﬁ&m:
x | SRS Heeft SRR

1 8 8

2 10 18

3 fy 29

4 .fz 45

£, 3R £, % A HHA: 1 & ?

(@ 10317
(b) 17310
(¢) 1137 16
()

16 31T 11

aft Rt =0 0 &, D ST 67 qo R WS
) T 2, @ FeriRed § e gey w
g7
(a)
(b)
(¢ =R =180D

(d),

nD = 180R
nD =90R

R = 90D

9 tan? 0 + 4 cot? 0 T IdH T T § ?

(a) 6
b 9
() 12
(d) 13
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61. If xsinb=ycosO= _2ztanb , then whatis |gg
1-tanZ0 :
472 (x2 + y?) equal to ?
(@ @2+y?3
(b) (x2-yH?
) x2—y2)?8
@ &2+y??
62. If cos 6; + cos O, + cos 0, = 3, then what is
sin 8, + sin O4#'8in 65 equal to ? ”
(a) O
(b)) 1
(c) 2
d 3
63. What is the value of 8 which satisfies the
equation cos 6 +tanB=1 ?
(a) 0°
(b)  30° 67.
(c) 45°
d) 60°
64. What is the value of
. 1 1
sin x + ?
\jl +cosx 1-eosx
(a) 2
(b) 22
(c) V2 tan x
d o
BLS-S-FDE (18=A)

L] L] ®

LET’S LEARN TOGETHER

cos* A - sin? A

What is = ey equal to ?
(a) cos®A-sin?A

(b) cosA-sinA

(0 1

d 2

If 7 sin® x +8 cos? x = 4, 0 < x <90° then
what is the value of tan x ?

(a) 2
(b)) 1
NE]
(c) 7
1
d i
(d) 15

An aeroplane flying at a height of 300 m above

the ground passes vertically above another

plane at an instant when the angles of
elevation of the two planes from the same
point on the ground are 60° and 45°
respectively. What is the height of the lower

plane from the ground ?
(a) 10043 m
100
by —
J§ m
(¢) 5043m
(d 150(¥3+1)m
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LET S LEARN TOGETHER

61. 'ﬂﬁ XSINu=ycosg= ————

—tanel

42 2+ y?) T suet ® 2
(a) Z+y??
b (x2-y??
© G2-y8
@ &Z+y??

0
(b) 1
(0 2
d 3

63. 0 HIFH AN T

HIE T8 ?

(@) 0°

(b) 30°

() 45°

(d) 60°
g x\(l+3o.sx = 1—:-osx I

(e V2

b 242

(¢ J2tanx

d o
BLS-S-FDE

Q,

i 4 4
65, 5 A S A frad a7
cos?A — sin?A

(a) . cos?A—sin? A
| (b) cos A—sin A

¢ 1

d 2

100v3m
100

b i

(b) " m

© 50V3m

(d 150(43+1)m

(19-A)
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68.

69.

LET’S LEARN TOGETHER

Ifx=acosO+bsinOandy=asinf®—bcos6,
then what is x2 + y2 equal to ?

(a) 2ab

(b) a+b

(e a2+b?

(d) a2-1b?

From the top of a building 90 m_high, the
angles of depression of the top and the bottom
of a tree are 30° and 45° respectively. What is
the height of the tree ?

72.

73.

The angles of a triangle are in the ratio
2:4: 3. The smallest angle of the triangle is .

(a) 20°
(b)  40°
(¢) 50°
(d) 60°

A ball of radius 1 cm is put into a cylindrical
pipe so that it fits inside'the pipe. If the length
of the pipe is 14 m, what is\the surface area of
the pipe ?

(a) 308 m
(b)

(0 90+30/3m

90 -80/3m

(a) 2200 square cm
(b) 4400 square cm
(¢) 8800 square cm
(d) 17600 square em

70.

71,

‘BLS-S-FDE

(d 60+30+/3m

Which one of the following friples does not
represent the sides of a triangle ?

(a) (3,4,5)

(b) (4,7, 1.0)_
(c)
(d)

@3,6,8)
(2,3, 6)

If the perimeter of a rectangle is 10 em and
the area is 4 cm?, then its length is

(a)
(b)
(c)
(d)

6 cm
5 cm
45 cm

4 cm

Join Telegram

74,

75.

(20—A)

The areas of two circular fields are in the ratio
16 : 49. If the radius of the bigger field is 14 m,
then what is the radius of the smaller field ?

(a) 4m
() 8m
(e 9m
(d) 10m

Let ABCD be a rectangle. Let P, Q, R, S be the
mid-points of sides AB, BC, CD, DA
respectively. Then the quadrilateral PQRS is
a

(a) Square
(b) Rectangle, but need not be a square
(c) Rhombus, but need not be a square

(d)

Parallelogram, but need not be a
rhombus

. https://t.me/defenceekaksha



68.

69.

70.

71.

BLS-S-FDE

) e ®

LET’S LEARN TOGETHER

ae x=acosB+bsind W
y=asin®-bcosd B, alx2 +y2f%ﬁeézw

29
(a)
(b)

(c) a2 + b2

2ab

(d a%2-p?

fohet 90 m S=ft T ARG & 3id B wh g %
3 3 99 6 SETHA HI0T SHAY: 30° I 45°
2 194 Sl S 1 8 ?

30\/§m

90 — 30 V8 m

(a)
(b)
(¢ 90+30/8m

d 60+30/83m

frafafea & & FF-a1 B wh Bys 6t yonei
I 7@ gl 22

(a)
(b)

(3,4, 5)
(4,7, 10)
() (3,6,8)

d (,3,6)

IR ©H EE H GRET 10 om SR G

4 cm® R, A IEhHT SIS FAT R ?
(a) 6cm |
(b) 5cm

(c) 4:5cm

(d)

4 cm

Join Telegram :

72,

73.

74.

75.

(21-A)

)

feret st & ol 1 ST 2:4:38 | 3@
B 1 wea Bier $ior §

(a)
(b)
() 50°
(d)

20°
40°

60°

feret SEHEPR 98T # 1 em BT Il wE e
Sreft 1% 2 S 3EH i ae.fhe B S @ | A}
ST Y TS 14 m 8, GLIRY H IEH &%
fepa 8 2

(a) 2200 cm
4400 91 em
(e) 88003""‘(:1;{1

(d) 17600 T em

3 TR St @ el T I 16 49°% |
g 75 G 6t BT 14 m B, @ SR wT H
ES IR IR

(a) 4m
(b) 8m
(B 0 T
(d  10m

o1 <ifT ABCD T *19d ® | Afe y=sii AB,

BC, CD, DA % Hea-fomg swe1: P, Q, R, S &, a1

Ig4s PQRS ¥ 8 ?

(a) i

(b) 3R, foheg ot BT Stevaes &
g, feeeg ot B SrawEss A

(d) wHIR wgyw, frrg Tregye B e
B
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76.

77.

78.

BLS-S-FDE

LET’S LEARN TOGETHER

Let P, Q, R be the mid-points of sides AB, BC,
CA respectively of a triangle ABC. If the area
of the triangle ABC is 5 square units, then the
area of the triangle PQR is

(a)

5 ;
3 square units

(b)

square units

2J_

(c) g square units

(d)

1 square unit

If each of the dimensions of a rectangle is

increased by 200%, the area is increased by
(a) 300%
(b) 400%
(¢) 600%

(d) 800%

Three circles each of radius 35 ¢m touch one
another. The area subtended/between them
is
(@) 6(/3rn-2) square units

(b) 6(2n—+/3) square units

(e) % (24/3 — ) square units

) 518—9 T

Join Telegfam

79.

80.

81,

(22-A)

The area of a regular hexagon of side ‘a’ is

equal to
(a) g a? square units
(b) SJ— SR o square units
- ,
(c) 5 a“ square units
B s
(d) 5 a“ square units

ABCDEF is a regular polygon. Two poles at c

‘and D are standing vertically and subtend

angles of elevation 30° and 60° at A
respectively. What is the ratio of the height of

the pole at C to that of the pole at D ?

(& Ls 1
(b) 1:248
() 2+48:1
@ 2:48

Two parallel chords of a circle whose diameter
is 13 em are respectively 5 cm and 12 cm in
length. If both the chords are on the same side
of the diameter, then the distance between
these chords is

(a) b55cm
(b) Bem
(¢) 35cm
(d 8cm
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LET’S LEARN TOGETHER

76. WM ofifre fret Bryst ABC &t et AB, BC,|79. TH WW WIS ®1 Smed, el ST @ R,
CA % meafomg 79 P, Q, R § | afe By fopeah e 2 2
ABC &1 &%l 5 91 1§ 7, dl 5YS PQR &1

et e 8 2 @ L a2 gt
@ = - %azaﬂm
&) fﬁaﬁm (© %azaﬁﬁé

© 2 = | () -‘;—ga23|"f3557§
@ 19 g

80. ABCDEF U% @H §g4Si 8 | Cda1 DW § @%
SEEER TS 8, Sl A T AN 30° 3 60° F
77. A TRl o T Sedish oM =1 A9 Y 200% S AT SaRd HW B | C W E wY &

e foem e, et e s T ? Sa13 3 DR @e @H H S9TE HT U F41
(@ 300% 87 - :
(b)  400% | @ 1:1
(©)  600% | b 1:248
(d) 800% : (6) 243 :1
(d)_2.40n/3

78. I Fm, fmd & T2% 6 B 85 om B
THGE T K@ § | I ol SFald (g1, w 3w, Rl =@ 13 on 8, B A GHRR

e foRaeT & 2 Sfteratl Y ET$ FH: 5 cm 3K 12 em & | AR
(a) 6(/8n—2) T TS S SiaT =9 % T WE g, df o Sared
¥ ot 1 gt fomeelt & 2
(b) 6(2n—+3) T gH1S 0 i
© %(2\/5—1:) it gs ® Bem
: (¢) 35cm
w %(Jﬁ_n) e (d 3cm

BLS-S-FDE (23-A)
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83.

85.

BLS-S-FDE

LET’S LEARN TOGETHER

If the radius of a right circular cone is
increased by p% without increasing its height,
then what is the percentage increase in the
volume of the cone ?

(a) p?

(b) 2p?

2

B
(c) 100

P
2 T
p( ¥ 100]

A copper wire when bent in the form of a
square encloses an area of 121 cm? If the
same wire is bent in the form of a circle, it
encloses an area equal to

(a) 121 cm?
(b) 144 cm?
(¢) 154 cm?
(d) 168 cm®

(d)

ABC is a triangle and D is a point on the side
BC. If BC =12cm, BD =9 cm and
Z ADC = £BAC, then the length of AC is
equal to

(a)
(b)
(c)
(d)

5 cm
6 cm
8 cm

9 cm

If the surface area of a sphere is reduced to
one-ninth of the area, its radius reduces to

(a)
(b)
(©)
(d)

One-fourth
One-third
One-fifth

One-ninth

86.

87.

88.

(24-A)

In a trapezium ABCD, AB is parallel to CD
and the diagonals intersect each other at O.
What is the ratio of OA to OC equal to ?

(a) Ratio of OB to OD
(b) Ratio of BC to CD
(¢) Ratio of AD to AB
(d) Ratio of AC te-BD

Ice-cream, completely filled in a cylinder of
diameter 35 cm and height 32 cm, is to be
identical
disposable cones of diameter 4 cm and height

served by completely filling

7 em. The maximum number of persons that

can be served in this way is

(a) 950

(b) (1000
© 1050
(dﬁ 1100

The radius of a circle is increased so that its
circumference increases by 15%. The area of
the circle will increase by

(a) 31-25%
(b) 32-25%
() 3325%
(d) 3425%
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83.

84,

85.

BLS-S-FDE

@ p(z+lj

ool ®

LET’S LEARN TOGETHER

afE U T v 6 Ser i gfy g fen
3Eeh! BT p9 @1 & S, o i S SAad o
fepem witrere gfg 2t 2 2

(a) p

100

gfg dfs & TH AR a1l & ®G § HISL SR,
3T 121 em? S UREg BT & | Afe selt
dR I UF I < €9 H HISI €0 8, o9 560
o ufteg &% fehdT B 2

(a) 121 cm?

(b) 144 cm?
(¢) 154 cm?
(d) 168 cm?

ABC TF g« @ 3R ¥ BC W wh fog
D%IﬁBClecm,BDchmaﬁT

Z ADC = « BAC®, @ AC hl wvarrg == 8rff 2

(a)
(b)

5 cm
6 cm
(¢ 8ecm

(d)

g frdt M w1 ydie Swd g IEk
A% 1 A&l fee e Smar R, @ sEeh
B foret = St 2

(a) Ueh-=NYTE

(b) U-fagrs

(c) Teh I Uiaal faedm

(d) Tk 1 Gt g

9cm

86. TH HHGS (¢difem) ABCD #, AB 3R CD

87.

88.

(25-A)

quT=R § 3R fasof wh-gm @1 fag 0 W e
21" 0A 3R OC =1 31U FReesh sRIe 2 2

(a) OB 3R OD T U

(b) BC 3R CD %1 FUTd

(¢) AD 3T AB &1 31U

(d)._AC 31 BD. 3. 39T

U Sod (fferst) #1 = 85 em 3t F=r
32 cm &, S STEWEHA & T WU g B | I8
ATSHHIT 3T Shleh Gehd ©IH I THEY
et H gl W S S ?, Rme =
4cm3:ﬁi°ﬁ'l'§7cm% | cafdq Y a8
Fihan FEIT F1 8, s 38 TR ATZEHA
U IR 7

(a) 950
() 1000 -
(c) 1050
(d) 1100

Th g bl B T T Sew sueht aftfy &
16% ! 9ig g8 | 39 % &7%a ¥ fraeft iy
gt ?

(a) 31-25%
(b) 32-25%
() 3325% .
(d) 34-25%
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LET S LEARN TOGETHER

89. ABCD is a rectangle. The diagonals AC and
BD intersect at O. If AB =
AD = 24 cm, then what is OD equal to ?

(a) 22cm

(b) 20cm

(c) 18cm

(d 16cm

A field is
the given
in square met

90.

9+—J_

(c)
@ 7+242

BLS-S-FDE

32 em  and

91.

(26-A)

In the figure given below, D is the diameter of
each circle. What is the diameter of the shaded
cirele ?

(@ 10:5:7
(b) 8:4:7
fey ©:1:%
(d 8:4:5
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89. ABCD U% md g | faemof AC 3fit BD wh-qit
H O W HFI E | AR AB = 32 cm IW
AD =24 cm 8, T OD foreeh SR & 2

(a) 22cm

(b) 20 cm

(c)

18 cm

(d)

16 cm

90. T Wd (FIcg) il AR &t § foifom fopen o
2, S f & 7 emefa # awfan wn | @9
(Flee) *1 &aBer =7 Hiet § foher 2 2

2m 2m

lm

H  2m

3m

3m

3m )

(b)

kc) 9+ %Jﬁ

d 7+ 242

BLS-S-FDE

(27

91. :ﬂ%‘anéa@%ﬁ,mqamwn% |
SR I T ST T & 2

(@ D(J2-1)

() D(J2+1)

e). D(V2+2)

(@ . Di2s- V2

f9 & 7d eupfa #, AC 3R ED xR §, sk
AB=DE=5cm @7 BC=7cm 3% |
8% ABDE : &89%« BDE : &3%& BCD

92.

forereh sre 8 7
E 5 cm -D

A 5 cm B 7 cm C
(a) 10:5:7

(by 8:4:7

(&) 2:1:9

(d 8:4:56

A)
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93. In the figure given below, PQRS is a

[} [ ] ®
LET’S LEARN TOGETHER E

parallelogram. PA bisects angle P and SA
bisects angle S. What is angle PAS equal to ?

L, Q

(a)
(b)
(e)
(d)

94,
(a) 10 and 130
(b) 10 and 125
(c) 20and 130
(d 20and 125
BLS-S-FDE

(28-A)

In the figure given below, PQR is a
non-isosceles right-angled triangle, right
angled at Q. If LM and QT are parallel and
QT = PT, then what is £ RLM equal to ?

PQ is parallel to RS
S. If ~ LPR = 35° and
Z MPQ equal to ?

(a) 55°
(b) 70°
(¢) 175°
(d) 80°
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LET S LEARN TOGETHER

93. d9 §f 7w AHfd A, PQRS TH WK =St |95. IS § ¢ anpfa #, PQR U frmfyaTg W
"8 | PA IV PR 99T SA 0 S fawfoa s 8, oo &l Q wHeRior ® | afe LM 3t

Fft @ | 1 PAS e T 7

(a)
(b)
(c)
(d)

94.=ﬂ%d’rn§

(a) 10 3R 130
) 103 125 ' (@)
(¢) 203 130 Eb))
y (o]
@ 203Ri125 . @
BLS-S-FDE _ ' (29-A)

55°
70°
75°
80°

QT EHIRR § 991 QT = PT &, @ ~ RLM fash
R G 7

P

T RS A=K & 91
LPR = 35° 3R
h SR R 7
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LET’S LEARN TOGETHER

97. In the figure given below, ABC is a triangle |99.
with AB = BC and D is an interior point of the
triangle ABC such that £ DAC = £ DCA.

B
D
A C
Consider the following statements.:
1. Triangle ADC is an isosceles triangle.
2. D is the centroid of the triangle ABC.
3. Triangle ABD is congruent to the
_triangle CBD.
Which of the above statements are correct ?
(a) 1and2only
() 2 and 3 only _
(¢) 1and3only 100.
(d 1,2and3

98. In the figure given below, M is the
mid-point of AB and £ DAB = ZCBA and
Z AMC = £ BMD. Then the triangle ADM is
congruent to the triangle BCM by

C D
A M B
(a) SASrule
(b) SSSrule
(¢) ASArule
(d) AAArule
BLS-S-FDE (30-A)

ABCD is a square. X is the mid-point of AB
and Y is the mid-point of BC.

Consider the following statements :

dIf Trianglgs ADX and BAY are congruent.
2. £ DXA=/AYB.

3. DX is inclined at an angle 60° with AY.

4. DX is not perpendicular to AY.

Which of the above statements are correct ?

(a) 2,3 and4only
(b) 1,2 and 4 only
(¢0 1,3 and4only
(d) 1and2only

From an aeroplane vertically over a straight
horizontal road, the angles of depression of
two on the
opposite sides of the aeroplane are observed to
be oo and B. The height of the aeroplane above
the road is

consecutive kilometre-stones

tan o + tan
tan o tan B

(a)

tan ot tan
tana +tan B

(b)

cot o cot B

tel cot o + cot B

cot o + cot P
cot o cot B

d)
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AB = BC ® @1 Byt ABC # ©& anwfitss forg
D, 38 YR 8 {6 , DAC =/ DCAR |

B
D
A C
Frafafea ot w fomm Hifs..

1. P ADC TS wufgarg fiyw 2 |

2. Fys ABCHFI S5H DR |

3. s ABD 3R fiyw cBD wafmem ¥ |
39 HeAT H § BH-H FEl 8 2

(a) had 13K 2

(b) had 2 AR 3

(¢) hael 13N 3

@ 1,233

A < 8 sl H, AB W1 wea-faeg M R @en
ZDAB=/CBA® 3R £ AMC = 2 BMD 2 |
a0 Brys ADM it Bys BoM forw fem @
Hatmay § ?

' C D

A M B

(@) SASfrm
(b) SSS =
(¢) ASATREm
(d) AAAfEm

(31-A)

99. ABCDT& a1 & | AB &1 Hea-farg X 8 o1 BC

w1 Aefog YR |
Fefafaa s w foam Hifve .

1. Fs ADX 3R BAY wafmem € |
2. ZDXA=/AYB.

3.  AYd @19 DX, 60° % hIv 9T T B |
4. AYW DX T8l ® |

30tk el 4 @ B TE R 2

(a) hael 2,3 3R 4
(b) had 1,234
(@ eei 1,334
(d) [ ohee 131K 2

100. T Hith &3S WS & SRR FW T gaO

SN o, Sl SHHETE feheliHiel % Yeorl, S gam
SR o fomdia fesmstt # &, % o S o
37X p Siféra fohe T8 ¥ | Feh % HW gATS S
& SEE TR ?

tan oo+ tan
tan o tan

(a)

(b) tan o tan

tan o + tanp

cot o cot [
cot a + cot B

(c)

cot o + cot B

d 0
(&) cot o cot B
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T G HTTH TZ GO GIeraT Tier @l 7 FHgT AT 77 ad 7 @iel

A, : BLS-S-FDE | Tfteror gierenT dgws

Tt eTor giEdent
TR T

g : 3 ave | gurfes : 100

g

eI TRET B % i oTe, ST TH TeTuT GIeeht hi USdTel A¥d i O 16 5N i3 farT BT,
mmwgmwgﬁwm,anﬁﬂ@laﬁﬁm%ﬁsﬁaﬁﬂwﬁmﬁmm
£ W@ o6 OMR IW-U9 o, Stud T W, U T 8107 Yiecreht
?ﬁg@;AB,cmDﬁ,mﬁq&ﬁmﬁﬁmgmﬁﬁjﬁ%uﬁaﬁwmgw
Suffeam it & | et ot v i g /et <R Teute 7 swe-uses e @ e e |
T e gitae ot @ § feu T Hess H ATH] S
ST Tore B | ghE gfice W ot 7 faE | . .
T H AR Eis T & | & UH YISl 99 o, IR
H@%iaﬁgﬁg%m%ﬁ%@ﬁmma@%,aﬁmmaﬁmﬁﬁmaﬁm
T | S ST % U Faer 7w g FeaRR 9§ | - '

ST STt T TeRT | fOU T SR-Gh W &7 3ifhd i & | I 4 fou e i e |
o SIS % i HEHE © | A g o st
% a9 Them gitass & faftm swamT & I T Afhd ST TE =,

ﬁ?&mﬁﬁﬁaﬁsﬁ%wﬁmaﬁﬁﬁﬁl

39 39 Ot N TTTE § T & o qY T S TH W FaeT Ioi-Tae AdiEd

Ty ¥ | ST 9y aY wie gieeh & ST S STTEi 8 |

F= HM % T Tk whewr gt & oid ° 5 § |

T[T ITRI ok ToTT g0 :

s ToR-ust ® IEied gRT f4T T et Swi o forg qus feen g |

@) e T ¥ U S asiers I | Seficar g e W9 % fag e g s e s % forg s
¥ P frg e i @1 we-faerE (0.33) gve ¥ w9 # e S |

G) a2 P Ieficar U ¥ IR ST 3T 2, @ 39 TWerd IR AM Swn, Fui i e S # | s IW
T e 2, e oft 39w % o Sudhgan & 3 We W avs e wmam |

i) @R IEfeER gRT HE ww vl A fhan W &, vt Iefiean g Swe A feEn W @, < 3@ v 5
fore =g gue =i foan wmam |

T G ATTHT g T G Ger &1 T Hgl IIY ad 7% T @it

Note : English version of the instructions is printed on the front cover of this Booklet.
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